Ruch drgający - odpowiedzi
Zadanie1

a) T=4s
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A=0,5m
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d) l = 4m
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Zadanie 2 
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Zadanie 3 
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Zadanie 4
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Zadanie 5. 
a) T = 1,1 ms
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b) Vmax = 2,76 m/s
Vsr = 1,82 m/s

c) 15 000 m/s2
Zadanie 6. 
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Zadanie 7. 
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b) m= 0,33 kg

c) A= 0,4m

Zadanie 8.  

[image: image23.wmf]m

k

k

2

1

+

=

w


Zadanie 9. 
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Zadanie 11. 
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Zadanie 12. 
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Zadanie 13. 
a) xsm = 0,477m

b) I = 0,205 kg m2 
c) 
[image: image31.wmf]s

x

g

M

m

I

T

sm

5

,

1

)

(

2

=

+

=

p


Zadanie 14. 

a) T=0,3405 s
b) T=0,3406 s

c) 61%
Zadanie 15. 

a) t=14,3s
b) n=5,27
Zadanie 16. 
a) 
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